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December, 2023
MEC-003 : QUANTITATIVE TECHNIQUES

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from all the Sections as per

instructions.
Section—A
Note : Answer any two questions from this
Section. 2x20=40

1. Consider the Cobweb model given below :
Qqt =18 - 3R,

Find out the intertemporal equilibrium price
and check whether the equilibrium is stable.

2. What is meant by the standard normal curve ?
What are its main features ? State its
applications.

3. Consider a firm with a production function
given by :

y = 80%; + 40X, — 2xZ + 3X;X, — 2X3

P.T.O.
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It has a total cost of 96 due to input prices
w, =6 and W, = 3. Find out the maximum

output that the firm can produce at the given
cost.

4. Distinguish between a difference equation and
differential equation. Solve the following
equation :

1
yt+1_§yt =6 when y, = 1.

Comment on the time path followed by the
above equation.

Section—B
Note : Answer any five questions from this Section.

5x12=60
5. Find out the particular solution of the following
equation :
d 21
L= =2
X X
6. Solve the following linear programming
problem :
Min. :
2% + 15X, + 5X3 + 6%4
subject to :

X+ 6Xy + 3X3 + X4 = 2
2% — OXy + X3 — 3%y = 3

Xq, X9, X3, X4 2 0.



7.

10.

11.

12.
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Explain the Hawkins-Simon condition for the
viability of an economy.

Bring out the important features of Poisson
distribution.

Explain the method of maximum likelihood for
estimation of a parameter.

A bag contains 8 blue balls and 5 black balls.
Two successive draws of 3 balls each are made
without replacement. Find out the probability
that the first draw will give 3 black balls and
the second 3 blue balls.

Estimate the regression line y = a + bx for the
following data :
X (Year) Y (Sales)

2005 12

2006 19

2007 29

2008 37

2009 45

Write short notes on the following :
(a) Statistic and Parameter
(b) One-tail and two-tail tests

(¢) P-value

P.T.O.
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2x20=40

1. = fiu U Ffade Aea ) fa=mr Sifsa :
Qs = 3+4P_4
Aqhifash Tged ®ITd F@ HIWC AR S
SISy foh Hvger €l € o1 & ?
2. TR W 9% § N U™ € ? TEe! g
fagrmard o= € 2 s SIyEnT warEy
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3. U& WY & four wifau fS9s1 3dRA wed 39

THR ® :

y = 80X, + 40X, — 2X2 + 3% Xy — 2X3
A HITA wy, =6 R w, = 3 F FHRO 3HHT
wel AN 96 §1 SAMHAH IcARA S HiTe S
fF wd oot & g€ v o Scwfed wR gehdh
J

4. R gHRw R fadeed wHiEw H eHR
Farzu| fr=fafaa T & g8 Hifeg .

1
Yt+1_§Yt=6 Sid yy =1

39 FHIRUT g STIERd wwa 9o X foogf
TS|

—
T : M 9§ ¥ fegl ura g & I Sy
5x12=60
5. frafafea i &1 foauim g 3@ Sifs
d 2_1
F-L =2

dx

P.T.O.
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6. Trefafad s HERYA U9 6l g HIFST :

2% + 15X, + 5X3 + 6X%4

X + 06Xy + 3X3 + X4 = 2
2% — OXy + X3 — 3Xy = 3

X, X9, X3, X4 =2 0

7. TH e wl  ogdgeddl % o
Bifhg-TTHT ITal hl SHTEATId hifSu|

8. wigw famur & & foumastl W g

giferu|

9. TH UEd (W) & ke &I AfwHdd
T fafy &t SR shife|

10. T 9 § 8 el 3 5 el e B TH 3
e ol & 9N HANH, fa yfqeenas & fenTen

ST 21 Wl Ad St R ugelt I 3 ohTent
e fasheft IR T 9R 3 el WS faed
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11. fFefafaa siwel & fau wmgEor (wfame)
y

W@ y =a+bx & STTAM AT :
X (&) Y (femnt )
2005 12
2006 19
2007 29
2008 37
2009 45

12. frfafed w Hfaa fewmforal fafew .
(1) wifers 3 =
(9) TH-T=5 3R f5-y=s whem
(9) P-HH
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